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MODERN COUNT CF YARN
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What is wrong with our methods of measuring or "counting"
the yarn? Well, for one thing they are not efficient, but this
should not bother us too muclhi - one can get used tc anything. Cn the
other hand however they are sc confusing that we dc not understand
each other = which is a more serious matter., For instance in some
English speaking countries 3/2 cotton reans three plies of No.2,
and in the others - two plies of No.3. But cotton and linen are not
as bad as wool, tecause you can find in the same leocality a dif-
ferent order of numbers for cotton than for wool. For instance:
two plies of Ho.16 cotton are written: 16/2, but two plies of No.l6
wool are: 2/16. Rayon is often numbered in the same way as cotton,
but it also follows thie count of siik.

There is still more confusion with basic numbers., No.l
cotton is always (in Znglish speakinz countries) 840 yards per pound,
and iinen - 300 yds/l1lt, but who knows what is No.l wool? It may be
the same as cotton or thz same as linen, or 560 yds/1lb, Silk can be
counted in 5 differest ways (see "Facts about Silk" in the same
issue of MW).

Thus the only way of beinrs sure of t:2 grist of our yarn
is to express it in number of yards per pound. This seems like an
excellent idea. Why not use it for all the yarus? For instance we
could call No.l of any yarn such zgrist which would sive 1000 yards
to the pound, or any other round nuaber for that matter. Then No.2
would have 2000 yds and so on.

Well, this good idea is known and used al’ over the world
with the exception of United States and British Commonwealth. It
is difficult to understand why we do ot adopt it.

But if we are dissatisfied with our system of measuring the
yarn, and find it too complicated and not sufficiently uniform, let
us have a look back to the beginning of the 19-th century in Eng-
land., How did the weavers then figure out the amount of yarn needed
for any particular project in weaving?

First of all they would hardly cver speak zbout yards. For
large amounts of yarn there were "Spyndles" which had for instance
14,400 yds for linen, but 15120 for cotton and wool. Because of



imported French yarns there were also "Pences'" of 16.800 yards.
These were subdivided into smaller units: "carr" 4200 yds, "hank"
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or M"hesp'" = 3600 yds, "nuuber" = 840 yds, "heer" = 600 yds, "cut",
or "slip" = 300 yds, "port" = 260 yds, "shift", or "sleea" = 120 yds,
"knot" - 60 wvds, "thread' or "split" = 54, or 90 inches, "seventh"

(used only in warping = 7.715", or 12.86", and Tinally "quarter"
= 9 inches.

Most of these units were usecd at the same time in the same
place. In Colonial times some of these neasures were adopted in
America, scme (fortuvnately’ forgotten, but there was never any
serious attemnt to creste a uniform system which could be applied
to any yvarn whatsocver,

Wthy dc we want such a uniform system? For one thing, to be
able to crder yarn from any place on the globe, and have an idea of
what we are going to get. Or read a Scandinavian draft and be able
to use it in practice, Or write to a Mexican friend about our latest
achievements in weaving.

Since such a system exists and is old news in most of the
countries ¢f the world, it would be a good . 1dec to get acquainted
with it. I do not mean that we should chang. ouv:r methods. Not at
all. They are very romantic end go very well together with our
gquarts which are not quarts arross the border, degrees of Fahrenheit
based on the personzl aversion to cecld of the inventor, "gauges"
of wire, and daylight saving time - which saves about the only tling
we can afford to waste.

But why not learn both systems at the same time, 5o that
when we are in a serious trouble we still can explain what we mean?

The system about which we are talking, is a part of the
metric system of measures. Granted that it is not perfect - in mos?®
cases it is decimal though. This means not only that one unit of
measure 1s ten times smailer or larger than the next one, but also
that one does not need to remember more than one unit in each case
- all other units being derived automatically from the basic one,
both as to the size and as to the name.

uch unit. It is called Just

In weaving we need only one s
No.l and it contains always 1 meter of yarn per one gram, or one
kilometer per one kilogram regeardless ol the nature of the yara.
It may be silk, or binding twine, nylon, or metal.

No.2 means two meters per gram. No.10 = 10 meters per gram,
and so on. ot only it lccks simple, but it is simvle.

By a strange coincidence the couversinn of metric numbers
into yards per pound is extrewmely easy. Number 1 (metric) is about
500 yds per pound. Therefore to find yds/lp corresponding to any
metric number, we multiply the latter by 50C. hus No.32 metric has
16000 yds/1b, No.28 - 14000, No.7 - 3500, z:d :o on.

The coefficient 500 is not quite ew.ct. It should be really
L96, but in practice the difference of less than one per cent is
negligible. The variations in size of yarn even on the seme tube
or skein are greater than that.
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Now what do we do, if we know the Er 1li:zh nwiker but would
like to express it'uetric systen? First we 'ind the nuuber of yards
per pournd, and then divide it by 500. For iac ance: cotton No.16/2
is the same as llo.d, and has therelore 8 x 34C = 6720 yards per pound.
This divided by 500 gives roughly iio.13 (or 1%2). Linen No.23 will
have (28 x 300) 8400 yds/ib, and its metric number is about 17.

If you iike better to work with formul:=s, here are four:

a1 -

fer cotton, liner, veel, znd silk {(in d=nicrsy.

Ic i s
Cotton: M = -1-5—5%-0—&-19; or M =1.7 x Hc.
Linen: M o= E;EEBQQQ; or = .6 x N1,

My x B . .
Yiool: M Hy x 560, M=1.1 x Nw.
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Silk: M=~

where: Il - metric number, N¢ - number nof cotton, N1 - nunber of
linen, Nw - number of wool, and d - number of silk in deniers.

If we convert the metric number into the conventionzl En-
glish number, then we may use the following formulas:

[eTsle
e = .6 x M; N1 = 1.7 x M; Nw = .9 x M; D = ‘QJO.
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The coefflicients are only approiimac: L't nothing would he
gained by fijuring them out with more accurc 7y.

The metric system of measuring the yarn has one more advan-
tage. It simplifies the analysis of yari. When we have yara of un-
knovn count, we cut off one meter of yarn and weigh it in rilligraoms
on a small scale which must be very sensitive but not very accuraze.
Such a scale can be easily nade at home. The =+ _shts (a set from
10 to 500 mgs) can Le purchased in any store carrying school or
laboratory supplies.

To find the metric number we divide 1060 by the weight of
our sample. Thus if one weter of yarn weighs 25 mgs it is MNo.40.

If the yarn has more than one ply (find out by untwisting) then

this number is multiplied by the number of plies exactly zs in the
English system. If in our case of 25 mgs per meter» there were 3 plies,
then we multiply 40 by 3 and ther mark the numlor of plies at the

end, thus: 120/3. If we want to stress the fact that the yarn is
single, we write it: 40/1. Otherwise the rnurber alone (4G) does not
give any information as to the way the yarn was Spull.
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